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Q1. ( 52.3 mmol dm™) 280 nm
1cm 30.0 % ( 10) dm® mol™ cm™
Q2. (1)-(5) (a)—(e) (@)-(e)
(1) N.O
(2) Os ( )
(3) H,0 O-H
(4) HCI
(5) Na D (@(Bs—>3p )
:(a) 15~100 nm, (b) 100~350 nm, (c) 400~800 nm, (d) 1~50 um, (e) 200nu~100mm
Qs. v=0 v=2
Q4. AB J=0 J=1 33.8cm™ A-B
( A1A=10"m) AB 2.0 amu " 16.9 amu A’ e
4rc,
Q5. J=0 J=2
Q6. (1—4) o
>
.. (0) o =<
(1) CO: ( ) v ( )
(2) N,
(3) CHy ( / ) vi( = C-H )
(4) HCI
(5) NO, ( ) %1 ( )
Q7. Cl ( 4) 880 cm™ ( 2)
317K
kT =220 cm™ (k )
Q8. H,, HD, D,
*Q9. Cl, 556 cm™* 400 K v=1
v=0 400 K kT=278cm™ k
Q10. co ( 1.92cm™)  303.9K
J=10 (J=0) KT = 211.2
cm™ (k )
*Q11. 1.73 us Us
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X 0.1 0.2 0.5 0.7 15 2.0
In(x) -2.30 -1.61 -0.69 -0.36 0.41 0.69
X 0.2 0.3 0.5 0.7 2.0
logio(X) | -0.699 -0.523 -0.301 -0.155 0.301
X -4.0 -2.0 -15 -1.0 -0.5 0.5 1.0 15 2.0
exp(x) | 0.0183 0.135 0.223 0.368 0.607 1.65 2.72 4.48 7.39
X 0.1 0.5 15 2.0 3.0 5.0 15.0
\/; 0.316 0.707 1.225 1.414 1.732 2.236 3.873
i ( 100 1=1,0% (g 1=1,e°C
m,m
( my, M) H= L2
m, +m,
1 kf 1/2
V=—|—
2w\ u
G(v)=Wv+ihv,v=0,12, ..
| = pur?
F(J)=BJ(J+1),J=0,1,2, ..
h® h
B=—, B=
( ) TR ) 4nc,|
J g; =2J+1
n; o g; exp[—k—_;_j
A—>B KczQ—Bex (—EJ
Qa kT
( elec) Qelec = Jelec
1
Quio = 1-exp(=hv/KT)
oo KT
rot :E
. 272mkT )2 . 27k \*'°
Qtrans = h2 o ( ) Quans = h2
— P N 2
( ) lepm,pm:_Aa+”_
&+2 M 3eg 3kT
1= 0,[S(S +1)"? g, 9o = 2.00
i 2
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